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Show your work. Points will be deducted for inadequate explanations, using notation incorrectly, and not
making obvious and conventional simplifications.

1. Evaluate using the methods of substitution and/or integration by parts. (40 pts.)
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2. Find the area of the region bounded by the curves :v=' y® and r = 8 — y°. (8 pts.)
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3. Differentiate the function (8 pts.)

fa= [ “onta
uSmuE Sownd- z‘ 'fl;u fﬂjrgf& q»ru?aﬁies , o
- S mitdk ¥ 5 e =
o ’ - cho' Rade
" : TC - G
s L el huwe b Mo FTC-I ol The
D{}‘KW‘A&J\N “(‘3 5 -B Sﬂx-

e d
—-é";( S AAV\QZ)Q& t X

4. Compute the volume of the solid obtained by rotating the region bounded by y = 4 — 22 and the z-axis
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5. Let C(z) denote the cost (in dollars) for a small family business to produce x units of a certain
commodity. If the marginal cost is C’'(z) = 0.04z + 2, what is the increase in cost when the number of

units produced is increased from 10 to 207 e
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7. Set up the integral for the volume of the solid obtained by rotating the region bounded by the curve
y = 4 — 2 and the z-axis about the line y = —1. (Do not evaluate the integral.) (8 pts.)
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Extra Credit. Evaluate the definite integral (4 pts.)
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